E=mc²/2

E = mv²/2 = mc²/2; v = c

Let S = r Exp [ỉ ω (r)] t

P = m [v + ỉ ω(r) r]  Exp [ỉ ω t]

͑P/2m = (m/2)[v + ȋ ω r]² Exp [2 ὶ ω t]

E = (m/2)[v² + 2 ȋ r vω – ω² r²]Exp [2 ὶ ω t]

With r = ct; ω t = arc tan (v/c) 

Then E = (mc²/2)[1 + 2 ȋ arc tan (v/c) – arc² tan (v/c)] Exp [2 ὶ arc tan (v/c)]  

With ω t = arc tan v/c = 1; v = (π/4)c

Then E = (mc²/2)[2 ȋ] Exp [2 ὶ]

E = (ỉmc²)[cosine 2 + ί sine 2]

|E| = mc²

One of the reasons that E = m c² experimentally is because the visual effects shows 

0 < E < mc² 

With 0 < E (Actual) < mc²/2 real and 0 < E (visual) < m c²      
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